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No B R HE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Ba. kg Ba ke
1 =Tl R7.7.8 Fa BRHEE9(<3.3) BRHEE9(<3.9) BRHEEY
2 SEFEWH R7.7.8 BIRE BREE3(<44) BRHEE9(<43) L Janpcc N
3 SEFWH R7.7.8 EOANAY BRHE9(<6.8) BREE9(<4.6) - Janpcic N
4 SEFWT R7.7.8 E—<> (% BRHE9(<4.0) BREE9(<4.2) - Janpcc N
5 v R7.7.8 A3 BREE9(<2.5) BREE9(<2.7) - Janpcc N
6 LhEH R7.7.7 F—<> BREE9(<42) BRHEE9(<3.8) L Janpcc N
7 BiEm R7.7.4 k< (fEE%) BRHEE9(<3.3) BRHEE9(<3.0) Ly Janpcac
8 Bsalth R7.7.8 +X BRHE9(<6.0) BRHET(<4.0) BRHET
9 AENhH R7.7.7 k< (fEE%) BRHEE9(<3.5) BREE3(<27) Ly Janhcac
10 FEMEE™ R7.7.7 Fa) (M%) BRHEY(<3.9) BRHET(<L25) BRHET
11 EHEE™ R7.7.7 A3 BRHET(<41) BRHET(<3.8) BRHET
12 EHEE™ R7.7.7 Joyal)— BHEET(<54) BRHE9(<5.0) - farhcac
13 FETH R7.7.8 b (iEER) BRHEE9(<3.3) BHEEY(<3.0) BHET
14 FETH R7.7.8 YXAUTY BRHEE3(<54) BRHEE9(<3.7) BRHET
15 FEH R7.7.8 F—<> BRHET(<45) BRHET(<4.0) BRHET
16 FETH R7.7.8 BIRF BRHET(<4.3) BRHE(<3.9) BRHET




BREER

No 5 RExH AMDELE o L-134 2 L-137 BEE
Ba ke Ba ke Ba kg

17 SiHET R7.7.8 b2k (HEE%) BB 9(<3.6) BT 9(<26) ‘e
18 SYHT R7.7.8 E—<> BHEY(<3.2) BRHEY(<3.4) BRHEET
19 S HTRT R7.7.8 BIRE BRHET(<44) BREET(<44) ‘e
20 = R ET R7.7.8 ATRF Bt 9(<40) B E9(<3.0) ‘e
21 mEET R7.7.7 Fa2 BEHES(<3.1) BHE9(<33) ‘e
22 T SERET R7.7.7 Jayaly— BRHEE9(<4.9) BRHE9(<3.9) BREEY
23 T SERET R7.7.7 Fayy BRHEEY(<27) BRHE9(<25) BREEY
24 =10 R7.7.7 FR BHE97(<6.6) BHE9(<5.6) BRHEEY
25 &R R7.7.7 RoL2V (HEER) BRHE9(<5.3) BRHEY(<45) BREEY
26 LB R R7.7.9 bk (FEER) BRHE9(<28) BRHE9(<26) BREEY
27 JLEREF R7.7.9 EOANAY BRHE9(<6.7) BRHEET(L<57) BREEY
28 iE = 1)) R7.7.8 Vi P2 BRHEET(<54) BRHEE7(<4.6) BrHEd
29 BE1RHET R7.7.8 k€O BrHE7(<2.9) BRHEE7(<3.3) BrHEd
30 A2 pRHET R7.7.8 N RHEE7(<48) BRHEET(<3) BrEEd
31 FewE CHT R7.7.8 A 2 BRHE9(<5.0) BRHE9(<5.3) BREEY
32 ¥ T R7.7.8 av¥y R E7(<6.6) BRHEET(<34) mEEd
33 Y ACHT R7.7.8 YYIURY BRHE9(<5.9) BRHE9(<48) BREEY
34 FE T AHT R7.7.8 boEODY (FEER) BRHE9(<38) BRHE9(<3.3) BREEY
35 FE T AHT R7.7.8 FR BRHE9(<4.0) BRHEET(<31) BREEY
36 RIEXEE R7.7.9 FR BRHE9(<43) BRHE9(<3.9) BREEY




BREER

No SR £REH AR DIELHE 2 L-134 > L-137 BEE
Ba ke Ba/ ke Ba kg

37 P EFR R7.7.4 ATRF BB 9(<3.6) BHE9(<33) ‘e
38 P EFR R7.7.4 = (HEER) BHE9(<42) BHE9(<32) ‘e
39 1) R7.7.3 b2k (HEE%) BHE9(<34) BHE9(<34) ‘e
40 1) R7.7.3 = (HEER) BT 9(<28) BT 9(<26) ‘e
41 AJIET R7.7.8 HRFv BEHE (<37 BHE9(<32) ‘e
42 AJIET R7.7.8 roEOOY BRHE9(<5.0) BRHEET(<41) BREEY
43 EIES) R7.7.8 FaY BRHEE7(<3.6) BRHEET(<34) BREEY
44 EIES) R7.7.8 = (HEER) BRHEE7(<28) BrEET(<24) BREEY
45 EIES) R7.7.8 FR RHEE7(<5.3) BRHEE7(<5.5) BREEY
46 FHM R7.7.8 FR BRHE9(<3.9) BRHEY(<43) BREEY
47 H ERET R7.7.7 FR RHE7(<6.6) BRHEE7(<6.9) BREEY
48 [ EFHT R7.7.7 YILLTY X BRHE9(<45) BRHEET(<41) BREEY
49 [ EFHT R7.7.7 S=hYh BRHEEY(<44) BRHEEY(<3.2) BREEY
50 Nt R7.7.7 S=bv) BRHEE7(<6.2) BRHEE7(<4.0) BREEY
51 ) R7.7.7 YILLTY X BRHE9(<5.5) BRHEET(<44) BREEY
52 e R7.7.7 HRFv BRHEEF(<31) 6.60 6.6

53 R ZEHT R7.7.7 Jayal)— BRHE7(<6.2) BRHEET(<4D) BREEY
54 R ZEHT R7.7.7 7 AN BRHEE7(<7.6) BRHEE7(<5.8) BREEY
55 = [ T R7.7.7 E—<> BRHE9(<35) BRHE9(<3.9) BREEY
56 = [EET R7.7.7 FR BRHE9(<48) BRHEEY(<44) BREEY
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Ba ke Ba ke Ba kg

57 = [EET R7.7.7 YILLTHF BHE9(<42) BEHES(<3.1) ‘e
58 KHEEHT R7.7.7 FR BRHE$(<5.3) BRHEE7(<33) ‘e
59 KHEEHT R7.7.7 Ryd—= BRHEE7(<3.9 BRHEE7(<35) ‘e
60 KEEHT R7.7.7 ==y BRHEE7(<2.6) BRHE$(<26) ‘e
61 KREHT R7.7.7 =AY BHE7(<29) BEHE7(<34) ik
62 K REHT R7.7.7 BIRE BRHEET(<4) BRHEET(<41) BREEY
63 K REHT R7.7.7 Fayy BRHE9(<5.0) BRHEEY(<3) BREEY
64 KREHT R7.7.7 N BRHEE7(<3.8) BRHEET(<3) BrEEd
65 KREHT R7.7.7 bk (hEER) BRHEEY(<3.2) BRHEEY(<22) BREEY
66 KHEHT R7.7.7 Froy BRHEET(<7.6) BRHEE7(<42) BrEEd
67 KREHT R7.7.7 TAIL BRHE9(<5.9) 20.4 20

68 KREHT R7.7.7 A3 BRHEE9(<3.2) 8.25 8.3

69 JRSTHT R7.7.7 SR (EER) BRHE9(<38) BRHEE9(<26) BREEY
70 JRSTHT R7.7.7 S=hYh BRHE9(<35) BRHE9(<36) BREEY
71 RITET R7.7.7 toEOaY BRHEEY(<34) BREEY(<27) BRHEET
72 BEM R7.7.7 E—<> BRHEE9(<6.7) BRHE9(<48) BREEY
73 BREEFT R7.7.7 INT)H (FEER) BRHEET(<41) BRHE9(<35) BREEY
74 BREEHT R7.7.7 E—<> BRHE9(<45) BRHEE9(<43) BREEY
75 JI{RHET R7.7.7 TIL—A~1— BRHEEF(<31) BRHEEY(<44) BREEY
76 A= BT R7.7.3 EE BRHE9(<3.0) BRHE9(<26) BRHEET
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No b 1 FEH APlniESE ti.L-134 t ™ L-137 EEE
Bqg. kg Bqg. kg Ba ke
77 R ZERT R7.7.7 AEE BRHEEY(<2.9) BHEET(<2.1) BrEEY
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